Question

ULG # 13 - Twotramental Case
Wit «C KeM?» & « Korga?»
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Instrumental
Instrumental - w/ whom When _
M3yuyatro
. cny>xy CO MHOM HMUM
» TO60M .
:p:m:; HamMu 3uMoM
Y HMAM BaMm
u3yyaelb HEeM HUMMU BECHOIA
T cny»ellb
MULb y .
Apy Moen noapyrouv netom
Kyllaewb TBOEW .
ero cecTPOr OCEeHblo
UlyHaere eé MaTepblo
cnyxwuTe -
Bbl v I YKEHOM
APpyXxuTte Bawlen - yTpomMm
KyluaeTte X AO0YbKOW
HEM
OH nM3yvaer _I'_VE':::I"; ApPYyrom -~
APYXUT < BeuyepoMm
OHOo Kywaer eé OTLIOM
R Mucycom
n3yyaem BawnumMm Y HOHBIO
X CbIHOM
Mbi CNY>XUM .
APY>XUM T OAHEM M
6paTbsiMu HOYbIO
Kyllaem TBOUMMU N
cécTpamm
ero
NIeTOM U
n3y4yaror ed APY3bSiMM 3MMOM
. CNYXXUT
OHMn y HaluumMu poaMTensiMmn
APYXMT BallMMM
Kyluaer X AeTbMMU
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